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Based on the posture plugin configuration shown in the above screen, which of  the 
following statements is true? 

A. Check for any antivirus software enabled for all versions of Windows OS. B. Check 
for any antivirus software enabled for Windows 7. 
C. Check for AVG antivirus software enabled and is latest for Windows 7. 
D. It is using the OnGuard dissolvable agent to perform the antivirus/antispyware 
checks. 
E. It is using auto remediation for Windows 7 clients. 

Answer: C 

QUESTION: 139 

Refer to the screen capture below: 
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Based on the Posture Policy configuration shown above, which of the following 
statements is true? 

A. This Posture Policy can be applied to an 802.1x wired service. 
B. This Posture Policy checks the health status of devices running Windows, Linux and 
Mac OS X. 
C. This Posture Policy can use either the persistent or dissolvable OnGuard agent to 
obtain the statement of health. 
D. This Posture Policy checks for presence of a firewall application in Windows 
devices. 
E. This Posture Policy checks with a Windows NPS server for posture tokens. 

Answer: C 

QUESTION: 140 

Refer to the screen capture below: 
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Based on the Access Tracker output for the user shown above, which of the following 
statements is true? 

A. A NAP agent was used to obtain the posture token for the user.  
B. The authentication method used is EAP-PEAP. 
C. A Healthy Posture Token was sent to the Policy Manager. 
D. A RADIUS-Access-Accept message is sent back to the Network Access Device. 
E. The Aruba Terminate Session enforcement profile is applied because the posture 
check failed. 

Answer: C 
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